s o T B R BB K B A B R EE B11>50% 2 BAEHR

ERHMEH 10505

Al (AR |(AFSLE (B kEEG (EH BB R B iR Frii&EEST %
i [2856 TLERS [EEAA EREERBIRAE 27,000,000 27,356,539 98.69
i [2856 TLEHS [BEAAN |EZEFEBERAE 8,000,000 9,297,914 86.04

bl @ ARZEEEMARCRFFCE B R ATE AN ~ RAZRHRA
b2 ¢ BRIOR S A F A B E RN EUIE 2 Bk e

ERMEA 10505

R /N B B o SRR RS B R EE B> 50% - BHATR (AR S AR A

Al | AERE | AE2E |5 Kk iélz% _ B RER B ATRFi% FriSEEBT %
T HE 6015|EBE% |HEEAAN i’fﬁggﬁﬁﬁ%ﬁﬁm 21,600,000 33,207,400 65.04
71 ARZEBEEE R ARRFREHERMARESAN - EAZBHRA
52 1 BRIRIRE SN E HERAFENE NI Bl i

RN B B AR R R R B R ERBI>50% 2 BH4HR
ERMEH 10505
HiERl [AERE |AELR | B kG |EE B R B H AR A% Fii&EEHT %
VAN
%ﬁ’ﬁ@ 000218  |TEdE% |HHEAA  |ELERHERAT 97,116,070 97,116,070 100,00
g’ﬂ% 000218  |EEIREES | KBRAAN |EEEHERGERAE 83,200,000 140,296,694 59.30




INBrAZE s e s i 7R =

- 000511 |k RN |[EEELIGHERAE 2,918,403 2,918,732 99.98

N U e A

- 000511  |=& Begz AN | SR ais AR A 2,941,939 2,949,301 99.75

N s Z=9 QLN

%E’% 000511 |=k% RRLERA A ?E%mﬁ R 10,024,886 10,024,886 100.00
X =

\ e A2 = (/£

%E’% 000587 |tk EEHEAN gf‘%ﬁﬁﬁ’**ﬂé(ﬁﬁgg 3,380,000 3,380,000 100.00

N 0 5% B R FH 42 B A4 N

%ﬁ’ﬁ% 000587 |3k RRLERA A gmgﬁﬂﬁﬁﬂﬂ HIRA 3,380,000 3,380,000 100.00

AN e TUZ2 LN

%ﬁ’ﬁ% 000601  |#%zE EEERA Z\F%F RREELTCEELS 08,479,347 08,633,765 99.84

Ny e

%ﬁ’ﬁ% 000638 |3¢A wEAN |BEER 432,136 732,136 50.02

Ny e

%ﬁ% 000856  |Biieas |Eeme AN |mhem 1,872,000 1,872,710 99.96

/Z;\ﬁ?ﬁé; N 2 L 7 IAY7AS =

- 000856 s | KIEERAN [EEKGARAE 18,156,978 25,695,914 70.66

71 AFRZEEE R AREFREHERMAIEARAAN ~ RAZEEA

212 BRI A B FH A B E UG > B

ERMEH 10505

Rl AR [A548 |5nEMEG [Ha Eatie o | B A Re [FHSERRT % |

EIYNE!

2T

BEMTEER

il ¢ RRZEEER MARSFIE R ERAE AN - RAZRHRA




at2 @ BRI A F] A B A RN IS B s g



-H])



